Event Number E-24-23

**Event Title** Janitorial Services

Event Type RFP

 Issue Date
 7/6/2023 06:47:57 PM (ET)

 Close Date
 8/3/2023 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Group 1 Total
National Facilities Services, a Kleen-Tech Company (Kleen-Tech Services, LLC)	Pompano Beach	FL	8/2/2023 03:09:48 PM (ET)	20	\$95,388.00
USSI (United States Service Industries, Inc)	Bethesda	Md	8/3/2023 01:46:44 PM (ET)	20	\$99,289.20
Chi-Ada Corporation	Tamarac	FL	8/3/2023 12:19:53 PM (ET)	20	\$122,766.72
P.C.S. Professional Cleaning Service Corp.	Margate	FL	8/3/2023 12:06:37 AM (ET)	20	\$125,742.74
Janitorial 5 Star Services LLC	Pompano Beach	FL	8/3/2023 12:05:35 PM (ET)	20	\$135,935.04
Clean Space Inc.	Coral Springs	FL	8/2/2023 07:36:31 PM (ET)	20	\$138,207.72
SFM Services, Inc.	Hialeah Gardens	FL	8/3/2023 11:53:16 AM (ET)	20	\$145,992.00
McKenzies Cleaning, Inc.	Miramar	FL	8/1/2023 03:36:38 PM (ET)	20	\$157,824.36
SND Pro Cleaning Services LLC	Tamarac	FL	8/3/2023 01:59:39 PM (ET)	20	\$202,504.80
Blue Edonis LLC	Miami	FL	8/3/2023 01:56:49 PM (ET)	20	\$220,320.00
Zaharaly Cleaners Inc.	Lakeland	FL	8/2/2023 05:32:41 PM (ET)	20	\$357,782.40

Responding Supplier	City	State	Response Submitted	Lines Responded	Group 2 Total
Chi-Ada Corporation	Tamarac	FL	8/3/2023 12:19:53 PM (ET)	20	\$82,483.92
USSI (United States Service Industries, Inc)	Bethesda	Md	8/3/2023 01:46:44 PM (ET)	20	\$96,258.48
National Facilities Services, a Kleen-Tech			8/2/2023 03:09:48 PM (ET)	20	
Company (Kleen-Tech Services, LLC)	Pompano Beach	FL	8/2/2023 03:09:48 PIVI (E1)	20	\$101,520.00
P.C.S. Professional Cleaning Service Corp.	Margate	FL	8/3/2023 12:06:37 AM (ET)	20	\$117,177.58
Janitorial 5 Star Services LLC	Pompano Beach	FL	8/3/2023 12:05:35 PM (ET)	20	\$135,578.64
SFM Services, Inc.	Hialeah Gardens	FL	8/3/2023 11:53:16 AM (ET)	20	\$149,352.00
Clean Space Inc.	Coral Springs	FL	8/2/2023 07:36:31 PM (ET)	20	\$153,483.84
McKenzies Cleaning, Inc.	Miramar	FL	8/1/2023 03:36:38 PM (ET)	20	\$158,888.40
SND Pro Cleaning Services LLC	Tamarac	FL	8/3/2023 01:59:39 PM (ET)	20	\$173,971.56
Zaharaly Cleaners Inc.	Lakeland	FL	8/2/2023 05:32:41 PM (ET)	20	\$374,849.16
Blue Edonis LLC	Miami	FL	8/3/2023 01:56:49 PM (ET)	20	No Bid

				National Facilities Services, a Kleen-Tech Company (Kleen-Tech Services, LLC)		USSI (United States Service Industries, Inc)		Chi-Ada C	orporation	P.C.S. Professional Cleaning Service Corp.	
				Total Price	\$95,388.00	Total Price	\$99,289.20	<b>Total Price</b>	\$122,766.72	<b>Total Price</b>	\$125,742.74
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
1	GROUP 1: City Hall Area and Fire	1	EA								
2	City Hall Four Story Building 100 West Atlantic Boulevard Pompano Beach, Florida 33060. (1st) floor.Description: Conference Room, Mail Room, Snack Room, Restrooms (2), Elevators (2.), Office Areas, Main Lobby. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.		mo.	\$1,354.25	\$16,251.00	\$1,454.30	\$17,451.60	\$1,993.33	\$23,919.96	\$1,816.283	\$21,795.40
3	City Hall (2nd) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$1,354.25	\$16,251.00	\$1,454.30	\$17,451.60	\$1,993.33	\$23,919.96	\$1,816.283	\$21,795.40
4	City Hall (3rd) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$1,354.25	\$16,251.00	\$1,454.30	\$17,451.60	\$1,993.33	\$23,919.96	\$1,816.283	\$21,795.40
5	City Hall (4th) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$1,354.25	\$16,251.00	\$1,454.30	\$17,451.60	\$1,993.33	\$23,919.96	\$1,816.283	\$21,795.40

				Janitorial 5 Star Services LLC		Clean Space Inc.		SFM Services, Inc.		McKenzies Cleaning, Ir	
_				<b>Total Price</b>	\$135,935.04	<b>Total Price</b>	\$138,207.72	<b>Total Price</b>	\$145,992.00	<b>Total Price</b>	\$157,824.36
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
1	GROUP 1: City Hall Area and Fire	1	EA								
2	City Hall Four Story Building 100 West Atlantic Boulevard Pompano Beach, Florida 33060. (1st) floor.Description: Conference Room, Mail Room, Snack Room, Restrooms (2), Elevators (2.), Office Areas, Main Lobby. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$2,285.12	\$27,421.44	\$1,960.26	\$23,523.12	\$2,282.00	\$27,384.00	\$2,452.51	\$29,430.12
3	City Hall (2nd) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$2,043.97	\$24,527.64	\$1,960.26	\$23,523.12	\$2,282.00	\$27,384.00	\$2,452.51	\$29,430.12
4	City Hall (3rd) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$2,285.12	\$27,421.44	\$1,960.26	\$23,523.12	\$2,282.00	\$27,384.00	\$2,452.51	\$29,430.12
5	City Hall (4th) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$2,043.97	\$24,527.64	\$1,960.26	\$23,523.12	\$2,282.00	\$27,384.00	\$2,452.51	\$29,430.12

					aning Services LC	Blue Ed	lonis, LLC	Zaharaly Cleaners Inc.		
				<b>Total Price</b>	\$202,504.80	<b>Total Price</b>	\$220,320.00	<b>Total Price</b>	\$357,782.40	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
1	GROUP 1: City Hall Area and Fire	1	EA							
2	City Hall Four Story Building 100 West Atlantic Boulevard Pompano Beach, Florida 33060. (1st) floor.Description: Conference Room, Mail Room, Snack Room, Restrooms (2), Elevators (2.), Office Areas, Main Lobby. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$3,293.00	\$39,516.00	\$2,880.00	\$34,560.00	\$5,112.00	\$61,344.00	
3	City Hall (2nd) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$3,293.00	\$39,516.00	\$2,880.00	\$34,560.00	\$5,112.00	\$61,344.00	
4	City Hall (3rd) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$3,293.00	\$39,516.00	\$2,880.00	\$34,560.00	\$5,112.00	\$61,344.00	
5	City Hall (4th) floor.Description: Conference Room, Restrooms (2), Elevators (2), Office Areas. Services to be performed (4) days per week. Monday through Thursday. Between 6:00 p.m. and 7:00 a.m.	12	mo.	\$3,293.00	\$39,516.00	\$2,880.00	\$34,560.00	\$5,112.00	\$61,344.00	

				National Facilities Services, a Kleen-Tech Company (Kleen-Tech Services, LLC)		USSI (United States Service Industries, Inc)		Chi-Ada Corporation		P.C.S. Professional Cleaning Service Corp.	
				<b>Total Price</b>	\$95,388.00	<b>Total Price</b>	\$99,289.20	<b>Total Price</b>	\$122,766.72	Total Price	\$125,742.74
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
6	Commission Chambers One Story Building 100 West Atlantic Boulevard Pompano Beach, Florida33060.Description: Commission Chamber, 1 conference room, men's restroom (2). Women's restroom (2). Kitchen Areas (2). Services for the Commission Chambers to be performed (4) days per week, Monday through Thursday. Between 6:00 p.m. and 8:00 a.m. When Commission meeting are held (2nd Tuesday, 3rd Tuesday, and 4th Tuesday of each month), the vendor must perform services before the meetings start (4:00 p.m 5:00 p.m.).	12	mo.	\$870.00	\$10,440.00	\$810.24	\$9,722.88	\$956.83	\$11.481.96	#######################################	\$13,775.50
7	Fire Training 180 S.W. 3rd Street.Description: Office Areas, Restrooms (2). Services to be performed Monday through Thursday between 5:00 p.m. and 8:00 a.m.	12		\$730.00	\$8,760.00	\$664.87	\$7,978.44	\$737.50			\$11,481.14
8	Fire Administration 120 S.W. 3rd Street.Description: Office Areas, Restrooms (2). Training Tower: Office Areas, Restrooms (2), and Training Room. Services to be performed Monday through Thursday between 6:00 p.m. and 7:00 a.m	12	mo.	\$386.00	\$4,632.00	\$376.53	\$4,518.36	\$199.33	\$2,391.96	\$382.7083	\$4,592.50
9	Fire Logistics 1654 SW 5th Court, Suite #1641.Description: Lobby, Offices (9), Restrooms (2), Break Room, and Conference Room. Services to be performed Monday through Friday between 9:00 a.m. and 11:00 a.m.	12	mo.	\$546.00	\$6,552.00	\$605.26	\$7,263.12	\$363.58	\$4,362.96	\$726.00	\$8,712.00

					Janitorial 5 Star Services LLC		Clean Space Inc.		vices, Inc.	McKenzies Cleaning, Inc.	
				<b>Total Price</b>	\$135,935.04	<b>Total Price</b>	\$138,207.72	<b>Total Price</b>	\$145,992.00	<b>Total Price</b>	\$157,824.36
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
6	Commission Chambers One Story Building 100 West Atlantic Boulevard Pompano Beach, Florida33060.Description: Commission Chamber, 1 conference room, men's restroom (2). Women's restroom (2). Kitchen Areas (2). Services for the Commission Chambers to be performed (4) days per week, Monday through Thursday. Between 6:00 p.m. and 8:00 a.m. When Commission meeting are held (2nd Tuesday, 3rd Tuesday, and 4th Tuesday of each month), the vendor must perform services before the meetings start (4:00 p.m 5:00 p.m.).	12	mo.	\$832.56	\$9,990.72	\$1,081.25	\$12,975.00	\$903.00	\$10,836.00	\$1,075.98	\$12,911.76
7	Fire Training 180 S.W. 3rd Street.Description: Office Areas, Restrooms (2). Services to be performed Monday through Thursday between 5:00 p.m. and 8:00 a.m.	12	mo.	\$598.00	\$7,176.00	\$718.92	\$8,627.04	\$695.00	\$8,340.00	\$686.67	\$8,240.04
8	Fire Administration 120 S.W. 3rd Street.Description: Office Areas, Restrooms (2). Training Tower: Office Areas, Restrooms (2), and Training Room. Services to be performed Monday through Thursday between 6:00 p.m. and 7:00 a.m	12	mo.	\$405.67	\$4,868.04	\$535.25	\$6,423.00	\$465.00	\$5,580.00	\$686.67	\$8,240.04
9	Fire Logistics 1654 SW 5th Court, Suite #1641.Description: Lobby, Offices (9), Restrooms (2), Break Room, and Conference Room. Services to be performed Monday through Friday between 9:00 a.m. and 11:00 a.m.	12	mo.	\$833.51	\$10,002.12	\$1,340.85	\$16,090.20	\$975.00	\$11,700.00	\$892.67	\$10,712.04

					aning Services LC	Blue Ed	lonis, LLC	Zaharaly Cleaners Inc.	
				<b>Total Price</b>	\$202,504.80	<b>Total Price</b>	\$220,320.00	<b>Total Price</b>	\$357,782.40
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
6	Commission Chambers One Story Building 100 West Atlantic Boulevard Pompano Beach, Florida33060.Description: Commission Chamber, 1 conference room, men's restroom (2). Women's restroom (2). Kitchen Areas (2). Services for the Commission Chambers to be performed (4) days per week, Monday through Thursday. Between 6:00 p.m. and 8:00 a.m. When Commission meeting are held (2nd Tuesday, 3rd Tuesday, and 4th Tuesday of each month), the vendor must perform services before the meetings start (4:00 p.m 5:00 p.m.).	12	mo.	\$1,268.25	\$15,219.00	\$2,880.00	\$34,560.00	\$3,139.20	\$37,670.40
7	Fire Training 180 S.W. 3rd Street.Description: Office Areas, Restrooms (2). Services to be performed Monday through Thursday between 5:00 p.m. and 8:00 a.m.	12	mo.	\$846.83	\$10,161.96	\$1,440.00	\$17,280.00		\$29,712.00
8	Fire Administration 120 S.W. 3rd Street.Description: Office Areas, Restrooms (2). Training Tower: Office Areas, Restrooms (2), and Training Room. Services to be performed Monday through Thursday between 6:00 p.m. and 7:00 a.m	12	mo.	\$690.16	\$8,281.92	\$720.00	\$8,640.00	\$1,696.00	\$20,352.00
9	Fire Logistics 1654 SW 5th Court, Suite #1641.Description: Lobby, Offices (9), Restrooms (2), Break Room, and Conference Room. Services to be performed Monday through Friday between 9:00 a.m. and 11:00 a.m.	12	mo.	\$898.16	\$10,777.92	\$1,800.00	\$21,600.00	\$2,056.00	\$24,672.00

						USSI (United States Service Industries, Inc)		National Facilities Services, a Kleen-Tech Company (Kleen-Tech		P.C.S. Professional Cleaning Service Corp.	
				<b>Total Price</b>	\$82,483.92	<b>Total Price</b>	\$96,258.48	<b>Total Price</b>	\$101,520.00	<b>Total Price</b>	\$117,177.58
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
10	GROUP 2: Public Works Utilities and Air Park	1	EA								
	Purchasing Office 1190 N.E. 3rd Avenue, Building CDescription: Central										
	Stores including an Office area, Restrooms (3), Shower, and a Snack Area.										
11	Purchasing Office: Office Areas, Copier Room, Storage Room, and a										
**	Conference Room. Graphics including the Print Shop, and sink. For this										
	entire building, services to be performed Monday through Thursday										
	between 3:00 pm. and 6:00 p.m.	12	mo.	\$265.75	\$3,189.00	\$415.33	\$4,983.96	\$448.00	\$5,376.00	\$556.90	\$6,682.80
	Air Park Tower 1001 N.E. 10th Street.Description: Office Areas, Lobby,										
12	Restrooms (2), Janitorial Closet, and Snack Area. Services to be performed										
	Monday-Thursday between 5:30 p.m. and 7:00 a.m.	12	mo.	\$685.58	\$8,226.96	\$722.93	\$8,675.16	\$697.00	\$8,364.00	\$765.2333	\$9,182.80
	Public Works Administration/Engineering 1201 N.E. 5th Avenue.										
13	Description: Office Areas, Conference Room, Restrooms (3), and a Lunch										
13	Room. Services to be performed Monday through Thursday between 5:00										
	p.m. and 7:00 a.m.	12	mo.	\$952.83	\$11,433.96	\$960.50	\$11,526.00	\$867.00	\$10,404.00	\$955.9366	\$11,471.24
	Public Works Garage 1190 N.E. 3rd Avenue, Building A. Description: Office										
	Areas, Break Room, Restrooms (2), Library, Locker Room, and Associated										
	Hallways. The Manager's office is carpeted and the remaining floor areas										
	are tiled. Services to be performed Monday through Thursday between										
	5:30 p.m. and 7:00 a.m.	12	mo.	\$211.33	\$2,535.96	\$330.30	\$3,963.60	\$392.00	\$4,704.00	\$382.7083	\$4,592.50

				Janitorial 5 S	Star Services C	SFM Services, Inc.		Clean Space Inc.		McKenzies Cleaning, Inc.	
				<b>Total Price</b>	\$135,578.64	Total Price	\$149,352.00	<b>Total Price</b>	\$153,483.84	Total Price	\$158,888.40
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
10	GROUP 2: Public Works Utilities and Air Park	1	EA								
11	Purchasing Office 1190 N.E. 3rd Avenue, Building CDescription: Central Stores including an Office area, Restrooms (3), Shower, and a Snack Area. Purchasing Office: Office Areas, Copier Room, Storage Room, and a Conference Room. Graphics including the Print Shop, and sink. For this entire building, services to be performed Monday through Thursday between 3:00 pm. and 6:00 p.m.	12	mo.	\$704.80	\$8,457.60	\$860.00	\$10,320.00	\$795.01	\$9,540.12	\$619.54	\$7,434.48
12	Air Park Tower 1001 N.E. 10th Street.Description: Office Areas, Lobby, Restrooms (2), Janitorial Closet, and Snack Area. Services to be performed Monday-Thursday between 5:30 p.m. and 7:00 a.m.	12	mo.	\$697.12	\$8,365.44	\$1,110.00	\$13,320.00	\$676.51	\$8,118.12	\$931.83	\$11,181.96
13	Public Works Administration/Engineering 1201 N.E. 5th Avenue.  Description: Office Areas, Conference Room, Restrooms (3), and a Lunch Room. Services to be performed Monday through Thursday between 5:00 p.m. and 7:00 a.m.	12	mo.	\$957.29	\$11,487.48	\$1,214.00	\$14,568.00	\$940.08	\$11,280.96	\$619.54	\$7,434.48
14	Public Works Garage 1190 N.E. 3rd Avenue, Building A. Description: Office Areas, Break Room, Restrooms (2), Library, Locker Room, and Associated Hallways. The Manager's office is carpeted and the remaining floor areas are tiled. Services to be performed Monday through Thursday between 5:30 p.m. and 7:00 a.m.	12	mo.	\$572.07	\$6,864.84	\$547.00	\$6,564.00	\$208.47	\$2,501.64	\$619.54	\$7,434.48

				SND Pro Cleaning Services LLC		Zaharaly (	Cleaners Inc.	Blue Edonis, LLC	
				<b>Total Price</b>	\$173,971.56	<b>Total Price</b>	\$374,849.16	<b>Total Price</b>	\$0.00
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
10	GROUP 2: Public Works Utilities and Air Park	1	EA						
	Purchasing Office 1190 N.E. 3rd Avenue, Building CDescription: Central								
	Stores including an Office area, Restrooms (3), Shower, and a Snack Area.								
11	Purchasing Office: Office Areas, Copier Room, Storage Room, and a								
11	Conference Room. Graphics including the Print Shop, and sink. For this								
	entire building, services to be performed Monday through Thursday								
	between 3:00 pm. and 6:00 p.m.	12	mo.	\$874.08	\$10,488.96	\$1,696.00	\$20,352.00	No Bid	No Bid
	Air Park Tower 1001 N.E. 10th Street.Description: Office Areas, Lobby,								
12	Restrooms (2), Janitorial Closet, and Snack Area. Services to be performed								
	Monday-Thursday between 5:30 p.m. and 7:00 a.m.	12	mo.	\$1,388.00	\$16,656.00	\$2,416.00	\$28,992.00	No Bid	No Bid
	Public Works Administration/Engineering 1201 N.E. 5th Avenue.								
13	Description: Office Areas, Conference Room, Restrooms (3), and a Lunch								
13	Room. Services to be performed Monday through Thursday between 5:00								
	p.m. and 7:00 a.m.	12	mo.	\$1,660.58	\$19,926.96	\$3,139.20	\$37,670.40	No Bid	No Bid
	Public Works Garage 1190 N.E. 3rd Avenue, Building A. Description: Office								
	Areas, Break Room, Restrooms (2), Library, Locker Room, and Associated								
14	Hallways. The Manager's office is carpeted and the remaining floor areas								
	are tiled. Services to be performed Monday through Thursday between								
	5:30 p.m. and 7:00 a.m.	12	mo.	\$1,135.50	\$13,626.00	\$1,696.00	\$20,352.00	No Bid	No Bid

				USSI (United States Service Industries, Inc)		National Facilities Services, a Kleen-Tech Company (Kleen-Tech		Cleaning Service Corp			
				<b>Total Price</b>	\$82,483.92	<b>Total Price</b>	\$96,258.48	<b>Total Price</b>	\$101,520.00	<b>Total Price</b>	\$117,177.58
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	Public Works Offices 1190 N.E. 3rd Avenue, Building B. Description: West end of the building consists of an Office Areas, Men's Restroom (2), Women's Restrooms (2), and an Employee Lunch Room. The East end of the building has a Welding shop that has a small office, building maintenance offices, and (3) restrooms. Services to be performed Monday through Thursday between 5:30 p.m. and 8:00 a.m.	12	mo.	\$1,162.75	\$13 953 00	\$1 125 21	\$13,502.52	\$1,001,00	\$12 012 00	\$1,147.135	\$13,765.62
16	Membrane Building: 1205 N.E. 5th Avenue, Pompano Beach, Florida, 33060. Description: First Floor: Office areas, Lobby and Hallways, Laboratory and Control Room, Elevator, Restrooms (2) Locker/Shower Rooms.Second Floor: Office Areas and Hallways, Restrooms (2), and Conference Room with Kitchen Area. Services to be performed Seven (7) days a week from 7am-2pm.	12		\$1,147.75			\$15,907.80			\$1,147.135	
17	High Service/Filter Building: 301 N.E. 12th Street, Pompano Beach, Florida, 33060. Description: First Floor: Hallway (leading to) Lunchroom, Kitchen, Restroom (3) Break Room. Second Floor: Office Areas and Vestibule, Hallways, Computer Training Area, Conference Room and Restrooms (2), Stairs to First Floor, Entry Door at Second Level. Services to be performed Mon Fri. 7am-3:30pm.	12	mo.	\$345.08	\$4,140.96	\$242.45	\$2,909.40	\$635.00	\$7,620.00	\$968.00	\$11,616.00
18	Maintenance Shop/Chemical Building: Next to 1205 N.E. 5th Avenue, Pompano Beach, Florida, 33060. Description: First Floor: Restrooms (2) Locker Room, Shower, Control Room, Lunch Room Area. Second Floor: Supervisor's Office. Services to be performed MonFri. 7:00 am-3:30 pm.	12	mo.	\$238.42	\$2,861.04	\$393.24	\$4,718.88	\$582.00	\$6,984.00	\$1,003.75	\$12,045.00

					Star Services LC	SFM Sei	rvices, Inc.	Clean Space Inc.		McKenzies Cleaning, Inc.	
				Total Price	\$135,578.64	<b>Total Price</b>	\$149,352.00	<b>Total Price</b>	\$153,483.84	<b>Total Price</b>	\$158,888.40
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
15	Public Works Offices 1190 N.E. 3rd Avenue, Building B. Description: West end of the building consists of an Office Areas, Men's Restroom (2), Women's Restrooms (2), and an Employee Lunch Room. The East end of the building has a Welding shop that has a small office, building maintenance offices, and (3) restrooms. Services to be performed Monday through Thursday between 5:30 p.m. and 8:00 a.m.	12	mo.	\$1,335.52	\$16,026.24	\$1.375.00	\$16,500.00	\$1.147.24	\$13.766.88	\$1,237.66	\$14,851.92
16	Membrane Building: 1205 N.E. 5th Avenue, Pompano Beach, Florida, 33060. Description: First Floor: Office areas, Lobby and Hallways, Laboratory and Control Room, Elevator, Restrooms (2) Locker/Shower Rooms. Second Floor: Office Areas and Hallways, Restrooms (2), and Conference Room with Kitchen Area. Services to be performed Seven (7) days a week from 7am-2pm.	12		\$2,560.00							
17	High Service/Filter Building: 301 N.E. 12th Street, Pompano Beach, Florida, 33060. Description: First Floor: Hallway (leading to) Lunchroom, Kitchen, Restroom (3) Break Room. Second Floor: Office Areas and Vestibule, Hallways, Computer Training Area, Conference Room and Restrooms (2), Stairs to First Floor, Entry Door at Second Level. Services to be performed Mon Fri. 7am-3:30pm.	12		\$704.87	\$8,458.44				\$4,679.04		
18	Maintenance Shop/Chemical Building: Next to 1205 N.E. 5th Avenue, Pompano Beach, Florida, 33060. Description: First Floor: Restrooms (2) Locker Room, Shower, Control Room, Lunch Room Area. Second Floor: Supervisor's Office. Services to be performed MonFri. 7:00 am-3:30 pm.	12	mo.	\$238.63	\$2,863.56	\$698.00	\$8,376.00	\$3,523.74	\$42,284.88	\$1,127.56	\$13,530.72

					Cleaning ces LLC	Zaharaly (	Cleaners Inc.	Blue Edo	onis, LLC
				<b>Total Price</b>	\$173,971.56	<b>Total Price</b>	\$374,849.16	<b>Total Price</b>	\$0.00
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
15	Public Works Offices 1190 N.E. 3rd Avenue, Building B. Description: West end of the building consists of an Office Areas, Men's Restroom (2), Women's Restrooms (2), and an Employee Lunch Room. The East end of the building has a Welding shop that has a small office, building maintenance offices, and (3) restrooms. Services to be performed Monday through Thursday between 5:30 p.m. and 8:00 a.m.	12	mo.	\$1,604.33	\$19,251.96	\$3.318.40	\$39,820.80	No Bid	No Bid
16	Membrane Building: 1205 N.E. 5th Avenue, Pompano Beach, Florida, 33060. Description: First Floor: Office areas, Lobby and Hallways, Laboratory and Control Room, Elevator, Restrooms (2) Locker/Shower Rooms.Second Floor: Office Areas and Hallways, Restrooms (2), and Conference Room with Kitchen Area. Services to be performed Seven (7) days a week from 7am-2pm.	12		\$1,332.50					No Bid
17	High Service/Filter Building: 301 N.E. 12th Street, Pompano Beach, Florida, 33060. Description: First Floor: Hallway (leading to) Lunchroom, Kitchen, Restroom (3) Break Room. Second Floor: Office Areas and Vestibule, Hallways, Computer Training Area, Conference Room and Restrooms (2), Stairs to First Floor, Entry Door at Second Level. Services to be performed Mon Fri. 7am-3:30pm.	12	mo.	\$1,864.58	\$22,374.96	\$3,256.00	\$39,072.00	No Bid	No Bid
18	Maintenance Shop/Chemical Building: Next to 1205 N.E. 5th Avenue, Pompano Beach, Florida, 33060. Description: First Floor: Restrooms (2) Locker Room, Shower, Control Room, Lunch Room Area. Second Floor: Supervisor's Office. Services to be performed MonFri. 7:00 am-3:30 pm.	12	mo.	\$818.66	\$9,823.92	\$2,956.23	\$35,474.76	No Bid	No Bid

				Chi-Ada Corporation		=	ited States lustries, Inc)	Services,	al Facilities a Kleen-Tech (Kleen-Tech	P.C.S. Professional Cleaning Service Corp	
				<b>Total Price</b>	Total Price \$82,483.92 Total Price		rice \$96,258.48 To		Total Price \$101,520.00		\$117,177.58
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
19	Utilities Field Office: 1201 NE 3rd Avenue, Pompano Beach, Florida, 33060.  Description: Restrooms (4), Locker room (2), Breakroom. Services to be	12		¢004.83	¢10.057.06	¢022.00	¢11 200 FC	¢92C 00	¢10 022 00	¢1 144 00	ć12 728 00
	performed Monday-Thursday 7:30 am-3:30.	12	mo.	\$904.83	\$10,857.96	\$933.88	\$11,206.56	\$836.00	\$10,032.00	\$1,144.00	\$13,728.00
20	Environmental Services Offices 1190 NE 3rd Avenue Trailers, Pompano Beach, FL. 33060. Description: Restrooms (4), Offices, (7), Kitchenette, LunchroomArea. Services to be performed Monday-Thursday after 5pm.	12	mo.	\$345.67	\$4,148.04	\$484.09	\$5,809.08	\$542.00	\$6,504.00	\$564.6666	\$6,776.00
21	Code Enforcement Offices 1190 NE 3rd Avenue Trailers, Pompano Beach, FL. 33060. Description: Restrooms (2), Offices, (3). Services to be performed Monday-Thursday after 5pm.	12	mo.	\$345.67	\$4,148.04	\$640.10	\$7,681.20	\$542.00	\$6,504.00	\$564.6666	\$6,776.00
22	Reuse Water Treatment Plant: 1799 North Federal Highway, Pompano Beach, Florida, 33060.Description: Restroom (1), Control room, Laboratory and Hallways.Services to be performed Monday/Wednesday/Thursday Between 7:30 a.m. and 2:30 p.m.	12	mo.	\$268.00	\$3,216.00	\$447.86	\$5,374.32	\$404.00	\$4.848.00	\$564.6666	\$6,776.00

				Janitorial 5 Star Services LLC		SFM Services, Inc.		Clean Space Inc.		McKenzies Cleaning, Inc.	
				<b>Total Price</b>	\$135,578.64	<b>Total Price</b>	\$149,352.00	<b>Total Price</b>	\$153,483.84	<b>Total Price</b>	\$158,888.40
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
19	Utilities Field Office: 1201 NE 3rd Avenue, Pompano Beach, Florida, 33060. Description: Restrooms (4), Locker room (2), Breakroom. Services to be performed Monday-Thursday 7:30 am-3:30.	12	mo.	\$2,095.51	\$25,146.12	\$1,184.00	\$14,208.00	\$892.75	\$10,713.00	\$1,240.71	\$14,888.52
20	Environmental Services Offices 1190 NE 3rd Avenue Trailers, Pompano Beach, FL. 33060. Description: Restrooms (4), Offices, (7), Kitchenette, LunchroomArea. Services to be performed Monday-Thursday after 5pm.	12	mo.	\$704.87							
21	Code Enforcement Offices 1190 NE 3rd Avenue Trailers, Pompano Beach, FL. 33060. Description: Restrooms (2), Offices, (3). Services to be performed Monday-Thursday after 5pm.	12	mo.	\$476.71	\$5,720.52	\$772.00	\$9,264.00	\$341.02	\$4,092.24	\$619.54	\$7,434.48
22	Reuse Water Treatment Plant: 1799 North Federal Highway, Pompano Beach, Florida, 33060.Description: Restroom (1), Control room, Laboratory and Hallways.Services to be performed Monday/Wednesday/Thursday Between 7:30 a.m. and 2:30 p.m.	12	mo.	\$250.83	\$3,009.96	\$639.00	\$7,668.00	\$1,909.10	\$22,909.20	\$322.16	\$3,865.92

				Cleaning ces LLC	Zaharaly (	Cleaners Inc.	Blue Edonis, LLC		
				<b>Total Price</b>	\$173,971.56	<b>Total Price</b>	\$374,849.16	<b>Total Price</b>	\$0.00
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
19	Utilities Field Office: 1201 NE 3rd Avenue, Pompano Beach, Florida, 33060. Description: Restrooms (4), Locker room (2), Breakroom. Services to be performed Monday-Thursday 7:30 am-3:30.	12	mo.	\$1,095.25	\$13,143.00	\$2,416.27	\$28,995.24	No Bid	No Bid
20	Environmental Services Offices 1190 NE 3rd Avenue Trailers, Pompano Beach, FL. 33060. Description: Restrooms (4), Offices, (7), Kitchenette, LunchroomArea. Services to be performed Monday-Thursday after 5pm.	12	mo.	\$1,228.08	\$14,736.96	\$1,696.00	\$20,352.00	No Bid	No Bid
21	Code Enforcement Offices 1190 NE 3rd Avenue Trailers, Pompano Beach, FL. 33060. Description: Restrooms (2), Offices, (3). Services to be performed Monday-Thursday after 5pm.	12	mo.	\$682.91	\$8,194.92	\$1,696.00	\$20,352.00	No Bid	No Bid
22	Reuse Water Treatment Plant: 1799 North Federal Highway, Pompano Beach, Florida, 33060.Description: Restroom (1), Control room, Laboratory and Hallways.Services to be performed Monday/Wednesday/Thursday Between 7:30 a.m. and 2:30 p.m.	12	mo.	\$813.16	\$9,757.92	\$1,336.13	\$16,033.56	No Bid	No Bid

				National									
				Facilities									
				Services, a									
				Kleen-Tech		P.C.S.							
				Company		Professional				Janitorial 5			SND Pro
			Zaharaly	(Kleen-Tech	•		Clean Space	Chi-Ada	SFM Services,		McKenzies	Blue Edonis,	Cleaning
Line #	Δtt.	Attribute Name	Cleaners Inc.	Services, LLC)	Industries, Inc)	_		Corporation	Inc.	LLC	Cleaning, Inc.	1	Services LLC
Line "	Att.	Attribute Nume	Cicariers inc.	Scrvices, EEC,	madstries, mej	Service corp.		corporation			cicaming, me.		Jet vices LLC
Header	1	Local Business											
1	_	Participation Percentage		100%	0%	100%	15%	100%	10%	100%		0%	100%
		Vendor Certification		10070	0,0	20070	1370	10070	1070	10070		070	10070
		Regarding Scrutinized											
Header	2	Companies Lists (Any											
		Dollor Amount)	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Header	3	Drug-Free Workplace	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Header	4	Conflict of Interest	No	No		No	No	No	No	No	No	No	Yes
ļ ,	_	Acknowledgement of											
Header	5	Addenda	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Header	6	Terms & Conditions	Agree	Agree	Agree	Agree	Agree	Agree	Agree	Agree	Agree	Agree	Agree
2	1	Annual Cost (2023-2024)	\$11,654.40	\$16,252.00	\$17,451.49	\$21,795.40	\$23,523.00	\$23,920.00	\$27,384.00	\$27,421.44	\$29,430.09	\$34,560.00	\$39,516.00
2	2	Annual Cost (2024-2025)	\$11,654.40	\$17,503.40	\$17,975.03	\$22,786.10	\$24,699.26	\$24,398.00	\$27,931.68	\$27,421.44	\$30,365.50	\$36,633.60	\$41,886.00
2	3	Annual Cost (2025-2026)	\$12,422.40	\$18,746.15	\$18,514.28	\$23,776.80	\$26,181.21	\$25,130.00	\$28,769.63	\$29,149.80	\$31,300.91	\$38,831.64	\$44,886.00
2	4	Annual Cost (2026-2027)	\$12,422.40	\$20,002.14	\$19,069.71	\$24,767.50	\$27,882.99	\$25,884.00	\$30,208.11	\$30,022.56	\$32,236.33	\$41,161.56	\$47,956.00
2	5	Annual Cost (2027-2028)	\$13,190.40	\$21,402.29	\$19,641.80	\$25,758.20	\$29,834.80	\$26,661.00	\$32,624.76	\$30,891.36	\$33,171.74	\$43,631.16	\$51,313.00
3	1	Annual Cost (2023-2024)	\$11,654.40	\$16,252.00	\$17,451.49	\$21,795.40	\$23,523.00	\$23,920.00	\$27,384.00	\$24,527.64	\$29,430.09	\$34,560.00	\$39,515.00
3	2	Annual Cost (2024-2025)	\$11,654.40	\$17,503.40	\$17,975.03	\$22,786.10	\$24,699.26	\$24,398.00	\$27,931.68	\$24,527.64	\$30,365.50	\$36,633.60	\$41,886.00
3	3	Annual Cost (2025-2026)	\$12,422.40	\$18,746.15	\$18,514.28	\$23,776.80	\$26,181.21	\$25,130.00	\$28,769.63	\$26,051.16	\$31,300.91	\$38,831.64	\$44,886.00
3	4	Annual Cost (2026-2027)	\$12,422.40	\$20,002.14	\$19,069.71	\$24,767.50	\$27,882.99	\$25,884.00	\$30,208.11	\$26,867.40	\$32,236.33	\$41,161.56	\$47,956.00
3	5	Annual Cost (2027-2028)	\$13,190.40	\$21,402.29	\$19,641.80	\$25,758.20	\$29,834.80	\$26,661.00	\$32,624.76	\$27,650.88	\$33,171.74	\$43,631.16	\$51,313.00
4	1	Annual Cost (2023-2024)	\$11,654.40	\$16,252.00	\$17,451.49	\$21,795.40	\$23,523.00	\$23,920.00	\$27,384.00	\$27,421.44	\$29,430.09	\$34,560.00	\$39,515.00
4	2	Annual Cost (2024-2025)	\$11,654.40	\$17,503.40	\$17,975.03	\$22,786.10	\$24,699.26	\$24,398.00	\$27,931.68	\$27,421.44	\$30,365.50	\$36,633.60	\$41,886.00
4			\$12,422.40	\$18,746.15	\$18,514.28		\$26,171.21					\$38,831.64	\$44,886.00
4	4	Annual Cost (2026-2027)	\$12,422.40	\$20,002.14	\$19,069.71	\$24,767.50	\$27,882.99	\$25,884.00	\$30,208.11	\$30,022.56	\$32,236.33	\$41,161.56	\$47,956.00
4	5	Annual Cost (2027-2028)	\$13,190.40	\$21,402.29	\$19,641.80	\$25,758.20	\$29,834.80	\$26,661.00	\$32,624.76	\$30,891.36	\$33,171.74	\$43,631.16	\$51,313.00
5	1	Annual Cost (2023-2024)	\$11,654.40	\$16,252.00	\$17,451.49	\$21,795.40	\$23,523.00	\$23,920.00	\$27,384.00	\$24,527.64	\$29,430.09	\$34,560.00	\$39,515.00
5	2	Annual Cost (2024-2025)	\$11,654.40	\$17,503.40	\$17,975.03	\$22,786.10	\$24,699.26	\$24,398.00	\$27,931.68	\$24,527.64	\$30,365.50	\$36,633.60	\$41,886.00
5	3	Annual Cost (2025-2026)	\$12,422.40	\$18,746.15	\$18,514.28	\$23,776.80	\$26,181.21	\$25,130.00	\$28,769.63	\$26,055.36	\$31,300.91	\$38,831.64	\$44,886.00
5	4	Annual Cost (2026-2027)	\$12,422.40	\$20,002.14	\$19,069.71	\$24,767.50	\$27,882.99	\$25,884.00	\$30,208.11	\$26,867.40	\$32,236.33	\$41,161.56	\$47,956.00
5	5	Annual Cost (2027-2028)	\$13,190.40	\$21,402.29	\$19,641.80	\$25,758.20	\$29,834.80	\$26,661.00	\$32,624.76	\$27,650.88	\$33,171.74	\$43,631.16	\$51,313.00

				National									
				Facilities									
				Services, a									
				Kleen-Tech		P.C.S.							
				Company	USSI (United	Professional				Janitorial 5			SND Pro
			Zaharaly	(Kleen-Tech	States Service	Cleaning	Clean Space	Chi-Ada	SFM Services,	Star Services	McKenzies	Blue Edonis,	Cleaning
Line #	Att.	Attribute Name	Cleaners Inc.	Services, LLC)	Industries, Inc)	Service Corp.	Inc.	Corporation	Inc.	LLC	Cleaning, Inc.	LLC	Services LLC
6	1	Annual Cost (2023-2024)	\$6,919.68	\$10,442.00	\$9,722.93	\$13,775.50	\$12,975.00	\$11,482.00	\$10,836.00	\$9,990.72	\$12,911.80	\$34,560.00	\$15,219.00
6	2	Annual Cost (2024-2025)	\$6,919.68	\$11,246.03	\$10,066.12	\$14,403.75	\$13,623.79	\$11,711.00	\$11,052.72	\$9,990.72	\$13,332.19	\$36,633.60	\$16,132.00
6	3	Annual Cost (2025-2026)	\$7,687.68	\$12,044.50	\$10,368.10	\$15,030.00	\$14,441.22	\$12,063.00	\$11,384.30	\$10,687.20	\$13,752.58	\$38,831.64	\$17,261.00
6	4	Annual Cost (2026-2027)	\$7,687.68	\$12,851.48	\$10,679.14	\$15,656.25	\$15,379.90	\$12,424.00	\$11,953.52	\$11,065.44	\$14,142.97	\$41,161.56	\$18,470.00
6	5	Annual Cost (2027-2028)	\$8,455.68	\$13,751.09	\$10,999.51	\$16,282.50	\$16,456.49	\$12,797.00	\$12,909.80	\$11,443.68	\$14,553.37	\$43,631.16	\$19,763.00
7	1	Annual Cost (2023-2024)	\$5,328.00	\$8,756.00	\$7,978.48	\$11,481.14	\$8,627.00	\$8,850.00	\$8,340.00	\$7,176.00	\$8,240.05	\$17,280.00	\$10,162.00
7	2	Annual Cost (2024-2025)	\$5,328.00	\$9,430.21	\$8,217.83	\$12,003.03	\$9,058.45	\$9,027.00	\$8,506.80	\$7,176.00	\$8,501.95	\$18,316.80	\$10,771.00
7	3	Annual Cost (2025-2026)	\$6,096.00	\$10,099.76	\$8,464.36	\$12,524.88	\$9,605.96	\$9,298.00	\$8,762.00	\$7,688.52	\$8,763.56	\$19,415.76	\$11,525.00
7	4	Annual Cost (2026-2027)	\$6,096.00	\$10,776.44	\$8,718.29	\$13,046.75	\$10,226.09	\$9,577.00	\$9,200.10	\$7,974.72	\$9,025.76	\$20,580.72	\$12,332.00
7	5	Annual Cost (2027-2028)	\$6,864.00	\$11,530.79	\$8,979.84	\$13,568.62	\$10,491.91	\$9,864.00	\$9,936.11	\$8,260.92	\$9,287.66	\$21,815.64	\$13,195.00
8	1	Annual Cost (2023-2024)	\$3,456.00	\$4,631.00	\$4,518.38	\$4,592.50	\$6,423.00	\$2,392.00	\$5,580.00	\$4,868.04	\$8,240.05	\$8,640.00	\$8,282.00
8	2	Annual Cost (2024-2025)	\$3,456.00	\$4,987.59	\$4,653.93	\$4,808.25	\$6,744.16	\$2,440.00	\$5,691.60	\$4,868.04	\$8,501.95	\$9,158.40	\$8,779.00
8	3	Annual Cost (2025-2026)	\$4,224.00	\$5,341.71	\$4,793.55	\$5,011.00	\$7,148.81	\$2,513.00	\$5,862.35	\$5,228.64	\$8,763.56	\$9,707.88	\$9,394.00
8	4	Annual Cost (2026-2027)	\$4,224.00	\$5,699.60	\$4,937.36	\$5,218.75	\$7,613.48	\$2,588.00	\$6,155.47	\$5,438.88	\$9,025.76	\$10,290.36	\$10,051.00
8	5	Annual Cost (2027-2028)	\$4,992.00	\$6,098.57	\$5,085.48	\$5,427.50	\$8,146.43	\$2,666.00	\$6,647.90	\$5,649.12	\$9,287.66	\$10,907.76	\$10,755.00
9	1	Annual Cost (2023-2024)	\$4,320.00	\$6,557.00	\$7,263.17	\$8,712.00	\$16,090.00	\$4,363.00	\$11,700.00	\$10,002.12	\$10,712.07	\$21,600.00	\$10,778.00
9	2	Annual Cost (2024-2025)	\$4,320.00	\$7,061.89	\$7,481.07	\$9,108.00	\$16,894.34	\$4,450.00	\$11,934.00	\$10,002.12	\$11,052.54	\$22,896.00	\$11,424.00
9	3	Annual Cost (2025-2026)	\$5,088.00	\$7,563.28	\$7,705.50	\$9,504.00	\$17,908.44	\$4,584.00	\$12,292.02	\$10,707.84	\$11,393.02	\$24,269.76	\$12,224.00
9	4	Annual Cost (2026-2027)	\$5,088.00	\$8,070.02	\$7,936.67	\$9,900.00	\$19,072.49	\$4,722.00	\$12,906.62	\$11,090.88	\$11,733.49	\$25,725.96	\$13,080.00
9	5	Annual Cost (2027-2028)	\$5,856.00	\$8,634.92	\$8,174.77	\$10,296.00	\$20,407.56	\$4,863.00	\$13,939.15	\$11,413.80	\$12,073.96	\$27,269.52	\$13,995.00
11	1	Annual Cost (2023-2024)	\$3,456.00	\$5,372.00	\$4,984.06	\$6,682.80	\$9,540.00	\$3,189.00	\$10,320.00	\$8,457.60	\$7,434.44	No bid	\$10,489.00
11	2	Annual Cost (2024-2025)	\$3,456.00	\$5,785.64	\$5,133.58	\$7,332.55	\$10,017.17	\$3,253.00	\$10,526.40	\$8,457.60	\$7,696.35	No bid	\$11,500.00
11	3	Annual Cost (2025-2026)	\$4,224.00	\$6,196.42	\$5,287.59	\$7,508.40	\$10,618.20	\$3,350.00	\$10,842.19	\$9,034.44	\$7,958.25	No bid	\$12,305.00
11	4	Annual Cost (2026-2027)	\$4,224.00	\$6,611.59	\$5,446.22	\$7,821.25	\$11,308.38	\$3,450.00	\$11,384.30	\$9,352.68	\$8,220.15	No bid	\$13,166.00
11			\$4,992.00	\$7,074.40	\$5,609.61	\$8,139.10	\$12,099.97	\$3,654.00		\$9,671.04	\$8,482.06	No bid	\$14,088.00
12	1	Annual Cost (2023-2024)	\$5,184.00	\$8,362.00	\$8,675.23	\$9,182.80	\$8,118.12	\$8,227.00	\$12,320.00	\$8,365.44	\$11,182.01	No bid	\$16,656.00
12	2	Annual Cost (2024-2025)	\$5,184.00	\$9,005.87	\$8,935.49	\$9,601.20	\$8,522.76	\$8,391.00	\$13,586.40	\$8,365.44	\$11,575.93	No bid	\$17,655.00
12	3	Annual Cost (2025-2026)	\$5,952.00	\$9,645.29	\$9,203.55	\$10,017.60	\$9,034.13	\$8,643.00	\$13,993.99	\$8,932.92	\$11,969.86	No bid	\$18,891.00
12	4	Annual Cost (2026-2027)	\$5,952.00	\$10,291.53	\$9,479.66	\$10,435.00	\$9,621.35	\$8,902.00	\$14,693.69	\$9,246.72	\$12,363.78	No bid	\$20,214.00
12	5	Annual Cost (2027-2028)	\$6,720.00	\$11,011.93	\$9,764.05	\$10,852.40	\$10,294.84	\$9,170.00	\$15,869.19	\$9,680.52	\$12,757.70	No bid	\$21,629.00
13	1	Annual Cost (2023-2024)	\$6,919.68	\$10,408.00	\$11,525.90	\$11,471.24	\$11,281.00	\$11,434.00	\$14,568.00	\$11,487.48	\$7,434.44	No bid	\$19,927.00
13	2	Annual Cost (2024-2025)	\$6,919.68	\$11,209.00	\$11,871.68	\$11,992.66	\$14,844.97	\$11,662.00	\$14,859.36	\$11,487.48	\$7,696.35	No bid	\$21,122.00

				National									
				Facilities									
				Services, a									
				Kleen-Tech		P.C.S.							
				Company	USSI (United	Professional				Janitorial 5			SND Pro
			Zaharaly	(Kleen-Tech	States Service	Cleaning	Clean Space	Chi-Ada	SFM Services,	Star Services	McKenzies	Blue Edonis,	Cleaning
Line #	Att.	Attribute Name	Cleaners Inc.	Services, LLC)	Industries, Inc)	Service Corp.	Inc.	Corporation	Inc.	LLC	Cleaning, Inc.	LLC	Services LLC
13	3	Annual Cost (2025-2026)	\$7,687.68	\$12,005.00	\$12,227.83	\$12,514.08	\$12,555.67	\$12,012.00	\$15,305.14	\$12,261.00	\$7,958.25	No bid	\$22,601.00
13	4	Annual Cost (2026-2027)	\$7,687.68	\$12,809.00	\$12,594.66	\$13,035.00	\$13,371.79	\$12,373.00	\$16,070.40	\$12,677.64	\$8,220.15	No bid	\$24,183.00
13	5	Annual Cost (2027-2028)	\$8,455.68	\$13,706.00	\$12,972.50	\$13,556.92	\$14,307.82	\$12,744.00	\$17,356.03	\$13,094.28	\$8,482.06	No bid	\$25,875.00
14	1	Annual Cost (2023-2024)	\$3,456.00	\$4,700.00	\$3,963.44	\$4,592.50	\$2,502.00	\$2,536.00	\$6,564.00	\$6,864.84	\$7,434.44	No bid	\$14,988.00
14	2	Annual Cost (2024-2025)	\$3,456.00	\$5,061.00	\$4,082.34	\$4,801.28	\$2,626.71	\$2,602.00	\$6,695.28	\$6,864.84	\$7,696.35	No bid	\$15,888.00
14	3	Annual Cost (2025-2026)	\$4,224.00	\$5,421.00	\$4,204.81	\$5,010.00	\$2,784.31	\$2,680.00	\$6,896.14	\$7,329.48	\$7,958.25	No bid	\$17,000.00
14	4	Annual Cost (2026-2027)	\$4,224.00	\$5,784.00	\$4,330.95	\$5,218.75	\$2,965.29	\$2,760.00	\$7,240.95	\$7,591.68	\$8,220.15	No bid	\$18,190.00
14	5	Annual Cost (2027-2028)	\$4,992.00	\$6,189.00	\$4,460.88	\$5,427.50	\$3,172.86	\$2,843.00	\$7,820.22	\$7,854.12	\$8,482.06	No bid	\$19,463.00
15	1	Annual Cost (2023-2024)	\$7,349.76	\$12,013.00	\$13,502.62	\$13,765.62	\$13,767.00	\$13,953.00	\$16,500.00	\$16,026.24	\$14,851.91	No bid	\$19,952.00
15	2	Annual Cost (2024-2025)	\$7,349.76	\$12,938.00	\$13,907.70	\$14,391.33	\$14,455.16	\$14,232.00	\$16,830.00	\$16,026.24	\$15,375.12	No bid	\$21,149.00
15	3	Annual Cost (2025-2026)	\$8,117.76	\$13,856.00	\$14,324.93	\$15,017.04	\$15,322.47	\$14,659.00	\$17,334.90	\$17,055.72	\$15,898.33	No bid	\$22,629.00
15	4	Annual Cost (2026-2027)	\$8,117.76	\$14,784.00	\$14,754.68	\$15,642.75	\$16,318.43	\$15,099.00	\$18,201.65	\$17,598.60	\$16,421.54	No bid	\$24,213.00
15	5	Annual Cost (2027-2028)	\$8,885.76	\$15,819.00	\$15,197.32	\$16,268.46	\$17,460.72	\$15,562.00	\$19,657.78	\$18,140.16	\$16,944.75	No bid	\$25,908.00
16	1	Annual Cost (2023-2024)	\$12,862.08	\$18,170.00	\$15,907.91	\$13,765.62	\$19,505.00	\$13,773.00	\$28,020.00	\$30,720.00	\$54,103.95	No bid	\$15,990.00
16	2	Annual Cost (2024-2025)	\$12,862.08	\$19,569.00	\$16,385.15	\$14,391.33	\$20,480.77	\$14,049.00	\$28,580.40	\$30,720.00	\$56,009.95	No bid	\$16,950.00
16	3	Annual Cost (2025-2026)	\$13,630.08	\$20,958.00	\$16,876.70	\$15,017.04	\$21,709.61	\$14,470.00	\$29,437.81	\$32,671.32	\$57,915.94	No bid	\$18,136.00
16	4	Annual Cost (2026-2027)	\$13,630.08	\$22,362.00	\$17,383.00	\$15,641.75	\$23,120.74	\$14,905.00	\$30,909.70	\$34,604.28	\$59,821.93	No bid	\$19,406.00
16	5	Annual Cost (2027-2028)	\$14,398.08	\$23,928.00	\$17,904.49	\$16,268.96	\$24,739.19	\$15,352.00	\$33,382.48	\$34,664.28	\$61,727.92	No bid	\$20,764.00
17	1	Annual Cost (2023-2024)	\$7,200.00	\$7,619.00	\$2,909.43	\$11,616.00	\$4,679.00	\$4,141.00	\$11,280.00	\$8,458.44	\$9,293.05	No bid	\$22,375.00
17	2	Annual Cost (2024-2025)	\$7,200.00	\$8,205.00	\$2,996.71	\$12,140.00	\$4,912.94	\$4,224.00	\$11,505.60	\$8,458.44	\$9,620.43	No bid	\$23,718.00
17	3	Annual Cost (2025-2026)	\$7,968.00	\$8,788.00	\$3,086.61	\$12,672.00	\$5,207.71	\$4,351.00	\$11,850.77	\$9,032.52	\$9,947.81	No bid	\$25,378.00
17	4	Annual Cost (2026-2027)	\$7,968.00	\$9,377.00	\$3,179.21	\$13,200.00	\$5,546.21	\$4,481.00	\$12,443.31	\$9,349.56	\$10,275.19	No bid	\$27,155.00
17	5	Annual Cost (2027-2028)	\$8,736.00	\$10,033.00	\$3,274.59	\$13,728.00	\$5,940.00	\$4,616.00	\$13,438.77	\$9,666.60	\$10,602.57	No bid	\$29,055.00
18	1	Annual Cost (2023-2024)	\$6,480.56	\$6,987.00	\$4,718.88	\$12,045.00	\$42,285.00	\$2,861.00	\$8,376.00	\$2,863.56	\$13,530.69	No bid	\$9,824.00
18	2	Annual Cost (2024-2025)	\$6,480.56	\$7,525.00	\$4,860.45	\$12,592.50	\$44,399.08	\$2,918.00		\$2,863.56	\$14,007.35	No bid	\$10,414.00
18	3	Annual Cost (2025-2026)	\$7,248.56	\$8,059.00	\$5,006.26	\$13,140.00	\$47,063.03	\$3,006.00	\$8,799.83	\$3,068.04	\$14,484.01	No bid	\$11,143.00
18	4	Annual Cost (2026-2027)	\$7,248.56	\$8,599.00	\$5,156.45	\$13,687.50	\$50,122.12	\$3,096.00	\$9,239.82	\$3,200.28	\$14,960.68	No bid	\$11,923.00
18	5	Annual Cost (2027-2028)	\$8,016.56	\$9,201.00	\$5,311.14	\$14,235.00	\$53,630.67	\$3,189.00	\$9,979.00	\$3,332.52	\$15,437.54	No bid	\$12,757.00
19	1	Annual Cost (2023-2024)	\$5,184.64	\$10,033.00	\$11,206.57	\$13,728.00	\$10,713.00	\$10,858.00	\$14,208.00	\$25,146.12	\$14,888.57	No bid	\$13,143.00
19	2	Annual Cost (2024-2025)	\$5,184.64	\$10,805.00	\$11,542.77	\$14,352.00	\$11,248.60	\$11,075.00	\$14,492.16	\$25,146.12	\$15,413.07	No bid	\$13,931.00
19	3	Annual Cost (2025-2026)	\$5,952.64	\$11,572.00	\$11,889.05	\$14,976.00	\$11,923.51	\$11,408.00	\$14,926.92	\$26,796.48	\$15,937.56	No bid	\$14,907.00
19	4	Annual Cost (2026-2027)	\$5,952.64	\$12,348.00	\$12,245.72	\$15,600.00	\$12,698.54	\$11,750.00	\$15,673.27	\$27,651.72	\$16,462.06	No bid	\$15,950.00

				National									
				Facilities									
				Services, a									
				Kleen-Tech		P.C.S.							
					_	Professional				Janitorial 5			SND Pro
			Zaharaly	(Kleen-Tech	States Service		Clean Space	Chi-Ada	SFM Services,		McKenzies	Blue Edonis,	Cleaning
Line #	Att.	Attribute Name	Cleaners Inc.	Services, LLC)		Service Corp.	_				Cleaning, Inc.	_	Services LLC
19	_		\$6,720.64	\$13,212.00	\$12,613.09	•	\$13,587.44					No bid	\$17,067.00
20	_	· · · · · · · · · · · · · · · · · · ·	\$3,456.00	\$6,503.00		•	\$4,092.00	<u> </u>				No bid	\$14,737.00
20	+	i	\$3,456.00	\$7,003.00		\$7,176.00	\$4,296.90	\$4,231.00		\$8,458.44		No bid	\$15,621.00
20	+		\$4,224.00	\$7,501.00	\$6,162.86		\$4,554.71	\$4,358.00	\$9,732.76	\$9,032.52		No bid	\$16,715.00
20	+		\$4,224.00	\$8,003.00	\$6,347.75	\$7,800.00	\$4,850.77			\$9,349.56		No bid	\$17,885.00
20	_		\$4,992.00	\$8,563.00	\$6,538.18		\$5,190.33			\$9,666.60		No bid	\$19,137.00
21	1	Annual Cost (2023-2024)	\$3,456.00	\$6,503.00	\$7,681.27		\$4,092.00	\$4,148.00	\$9,264.00	\$5,720.52	\$7,434.44	No bid	\$8,195.00
21	2	Annual Cost (2024-2025)	\$3,456.00	\$7,003.00	\$7,911.71		\$4,296.90	\$4,231.00	\$9,449.28	\$5,720.52	\$7,696.35	No bid	\$8,686.00
21	3	Annual Cost (2025-2026)	\$4,224.00	\$7,501.00	\$8,149.06		\$4,554.71	\$4,358.00	\$9,732.76	\$6,111.96	\$7,958.25	No bid	\$9,294.00
21	4	Annual Cost (2026-2027)	\$4,224.00	\$8,003.00	\$8,393.53		\$4,850.77	\$4,488.00	\$10,219.40	\$6,337.80	\$8,220.15	No bid	\$9,945.00
21	5	Annual Cost (2027-2028)	\$4,992.00	\$8,563.00	\$8,645.34	\$8,112.00	\$5,190.33	\$4,623.00	\$11,036.95	\$6,563.40	\$8,482.06	No bid	\$10,641.00
22	1	Annual Cost (2023-2024)	\$2,592.32	\$4,845.00	\$5,374.37	\$6,776.00	\$22,909.00	\$3,216.00	\$7,668.00	\$3,009.96	\$3,865.91	No bid	\$9,758.00
22	2	Annual Cost (2024-2025)	\$2,592.32	\$5,218.00	\$5,535.60	\$7,176.00	\$24,054.60	\$3,281.00	\$7,821.36	\$3,009.96	\$4,002.10	No bid	\$10,344.00
22	3	Annual Cost (2025-2026)	\$3,360.32	\$5,588.00	\$5,701.67	\$7,486.00	\$25,497.87	\$3,379.00	\$8,056.00	\$3,225.00	\$4,138.29	No bid	\$11,068.00
22	4	Annual Cost (2026-2027)	\$3,360.32	\$5,962.00	\$5,872.72	\$7,800.00	\$27,155.23	\$3,481.00	\$8,458.80	\$3,362.52	\$4,274.48	No bid	\$11,842.00
22	5	Annual Cost (2027-2028)	\$4,128.32	\$6,380.00	\$6,048.90	\$8,112.00	\$29,056.10	\$3,585.00	\$9,135.50	\$3,500.04	\$4,410.67	No bid	\$12,671.00